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Public class SubClass extends SuperClass
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Tl: Y% Car Demo Jjava, JERHILEK.

class Car

{
int car_number;
void set_number(int car_num)

{

car_number=car_num;

¥

void show_number()

{

System.out.printin ("My car No. is :"+car_number);

¥
¥
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T class Bus extends Car
{
int capacity;
void set_capacity(int bus_car_capacity)
{
capacity=bus_car_capacity;
h
void show_capacity()
{
System.out.printin("My capacity is: "+ capacity);
¥
¥
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C

{

lass CarDemo

public static void main(String args[])
{

Bus DemoBus = new Bus();
DemoBus.set_number(6868);
DemoBus.show_number();
DemoBus.set_capacity(30);
DemoBus.show_capacity();

by = -[0 x|

D:sJavarjava CarDemo
N My car Mo. is :6868
BITSE R -

My capacity is: 38
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274 Rewritex.java,, & EHIE

class SuperClass

{

¥

int x;
void setF( )

{

x=0;
System.out.printin("Superf)Z= ExH){E" +X);

h
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class SubClass extends
SuperClass

{int X; [ [ B T LKA Ex
void setF( )
{ [/EBTRENTE setF()
X =6;
System.out.printin("Sonf)ZZ & xH){E" +X);
}
}
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I@;}

class Rewritex

{

public static void main(String args[])

{

SubClass Son = new SubClass ();
Son.setF();

SuperClass Father= new SubClass ();
Father.setF();

y T -[5[x

D: “WJava?java ,_EE wreitex
Son[{J A Ex[11{56
Son __‘D'E%x if) 186
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n HIEEE
» HEEPEBRETEEANRFHITEEANRKE .
s HEBEBE—ANRP AU MARLZ FRTE. ik
AR YE 2 B A [F >R 58 250 <€ A R AR Y. B 7 V% .
s FEEHRPREFTENSHLAANR, RESHNHE
ANF, EBREZHIIREANFE.
%R FE 7 4 TestLoad.java, 77 ¥EE KT
[*¥5E X —MNITEEBE*/

class Load
{
void receive(int i) // receiveii%:, HHINEESH LN
{

System.out.print("Receive one data!: "),
System.out.printin("i="+i);

}



©

void receive(int x,int y) // receive’5ix, #HAINtRESH 24
{
System.out.print("Receive two datas!: ");
System.out.printin("x="+x+",y="+y);

by
void receive(double d) // receive’ii%, #HdoubleZi#! & 514
{

System.out.print("Receive one double data!: ");
System.out.printin("d="+d);

bs
void receive(String s) // receive’5i%:, HAHSstringRE 1N
{

System.out.print("Receive a sting!: ");
System.out.printin("s="+s);

}
}
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[*EEPR*/
public class TestLoad

{

public static void main(String args[])
{
Load mo=new Load (); //8I& X %mo
mo.receive(1l); //iAfreceiveliix, HintEE 14
mo.receive(2,3); //fMreceivelii:, #HintkESH24
mo.receive(3.14159); //if Hreceive’si%, #doubles& 14
mo.receive("It is a Test!"); / /i Hreceive’ji%:, Histring®! 2411

il = -
o GOEAE
}' D:vjavarjavac TestLoad.java

D:sjavarJjava TestLoad

Receive one data': i=1

Receive two datas?: x=2.,.y=3

Receive one double data'; d=3.1415%
Receive a sting?; s=It is a Test?
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X RIREBHE (instanceof)

© Manager#iContractor#l EmployeelyFZ&
© {#HinstanceofskMlli{ — A S AR,
public void method(Employee e) {
if (e instanceof Manager)
Manager m = (Manager)e;
System.out.printin( " This is the manager of " +
m.department);

} elseif (e instanceof Contractor) {

} //do something as a Contractor
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© [a FEAFHRBIBFEMNGEFIIEBGER A LELR, X
ELFR, MAEAREERFILREREZHT
© M [ TEEFER (G ii*”?ﬁ%‘]%?ﬁﬁ%?@?@m) ,
PRIFER W ILE BRI E /D R RERYXHERIEF. tbn,
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public class two{

3‘]’%?@?2%?&5‘;@“ public static void main(String[] args) {
Base base = new Base();
base.hello(); // hello Base...

class Base { Sub sub = new Sub();
public String str = "hello Base..."; sub.hello(); // hello Sub...
public void hello(){
System.out.printin(str); Base bs = new Sub();
} bs.hello(); // hello Sub...
} _ :
class Sub extends Base{ gizessl ;(SS;\)'SS_UbO’
public String str = "hello Sub..."; s1.hello(): ’ // hello Sub...
public void hello(){
System.out.printin(str); Sub sb = (Sub) new Base();
} sb.hello(); //// error
: b
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Given the following code
class Base {}
class Ag extends Base{

}

public String getFields(){
String name = "Ag"';
return name;

}

public class Avf{
public static void main(String argv[]){

}

Base a = new Ag();
//Here

TEMTABMIE TR, FTLHH "Ag"?

1) System.out.println(a.getFields());

2) System.out.println(a.name);

3) System.out.println((Base) a.getFields());
4) System.out.println( ((Ag) a).getFields());

%
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